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1. Which of these is the correct expression for the vector € in the
diagram below?!
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2. The {speed, acceleration) of an object Following the position/time
curve below is, at time t:
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A A rock is thrown downwards from a tower. Shortly after release,
neplecting air friction, it's downward acceleration:

a} is prenter than g {l ,%-u' li v
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4. You are in an elevator when the suppori cable breaks and the
elevator begins to free-fallIn o fright, you let go of your keys giving
ther a small upwards push. On the way down your keys will:

4] eventualiy drop to the floor.

' h} eventoally float up to the ceiling. -

¢1 float up a1 small distance {eyce level) and remain there.
{1 accelerate and slam into the ceiling, l a }
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Figure 2.13
Displacement of meandering turtle
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A divigion of Thamson Leaming
Figure 2.19
Sum and difference of two vectors
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